


DAY 1

oINVESTIGATION



MEASUREMENT OF MASS

Mass tells us how heavy or light an object is. W H A |S




L.O.Canl

understand which
units are used for
measuring mass?

o You don't have
to worry about
milligrams.

Equivalent Units of Mass - Metrics

1 kilogram (kg) = 1000 grams (9)
1 gram = 1000 milligrams (mg)




INVESTIGATION

L.O. Can | investigate how much
things weigh?

Find some objects which have their
weight on.The kitchen would probably
be a good place to start.

Put them in order from lightest to
heaviest.

What units of measurements have you

found!?




L.O. Can | estimate objects that weigh more
or less than a kilogram?

o Find 8 objects.

o Estimate their weight . Do you think they weigh more or less than
a kilogram.

o If you have a pair of scales check your estimates.




L.O. Can you put these objects in order from lightest to heaviest? [50g

»
500g £ e
s
800g
| PATENT
~ FLOUR _
amata and Manzanil J v, | kg
. NET WT. 26 0Z. (730g) | P %
\ [

730g

NET 1 Kg




Think about animails.

o Choose 8 animals put them in

o Draw the animals.




DAY 2

oGrams and
Kilograms



Which items would you measure in kilograms®e
Which items would you measure in grams?¢

e o Il

-




Which items would you measure in kilograms®e
Which items would you measure in grams?

GRAMS KILOGRAMS

I
o il

&




L.O. Can |
consider
lighter and
heavier?

LO: To measure, compare, add and subtract: mass (gfkg) (ARE)

Answer the following word problems

3 [A Banana weighs 1149, A basketball weighs 6235 How much
heavier is a basketball than @ banana?

_Js

- | A'young hippopotamus weighs 152kg
How much heavier is a hippo than a giraffe?

e

Tick the llghﬁn Tick the heaviest Tick the heaviest | Tick the ligﬁ'tnt'

nallenge; Working at greater dept

object object | object object
Arrange these objects in order of mass ~ lightest to heaviest

&5 _ @
@ I

Order these masses from heaviest to lightest

659 6509 65kg 165g




ANSWERS

3. apple, calculator, watermelon, sellotape.

4. banana, basketball, giraffe, lorry. (Unless it is a
very big giraffe and a small lorry)

5. 65kg, 650g, 165g, 65¢g.




L.O. Can |
estimate
weights?

Estimating Weight {Metric) Mame:
Determing which letier best represents the welght, ANSWErs
Crram {gh Kilwgram (kgl
A gram is zhoust the weight A kilogmm is shout the [ —
af a paperclip. weight of a thick bosk, Remembser:
Kl means | NNE 5 ilusgram p ]
is 10O grames.
ﬁ | Kilogram is aleo aboul the same X
welght ns 2 pounds,
+
L]
10 Aduly Horse 21 Gallon of Milk 3 Ruler ~
A dHD grams Al gram A | gram .
B, JiM kilograms B, 500 grams B. 9549 grams M
C, M) grams . 4 Kilegrams O, 20 prams
I3, M kilograms I, 50 kilograms 13, 30 kilograms "

41 Laan Maower

A S(H) grams
B, I kilograms
C, HH grams
Ix I2 kalograms

Th Dhresser
A, 350 grams
B, 70 kilograms
20 grams
[r. S(H Kilograms

o

51 Frog
A 5,000 kilograms
B. 5,(6Hp grams=
C, 50 kilograms
1 50 grams

=]

R Envebape
A, 50 prams
B. 1 gram
. 200 Kilograms
. 675 grams

Q2

Baschall Cap
A, 85 prams

2

B. 5 kilogrms
. 3 Grams
12, 206F Kalograms

=
2 —

-;".—--""'_ﬂf

B Clothes Iron
A, 10K grams
H. 13 kilograms
. 2 Kilograms
. 15 prams

I Math :uw PSSP |

1% 593867 =] 44

=Tl




ANSWERS. These
are my ideas
yours might be
different.

|.400 kg
2. 4kg
3.20g

4. 100kg
5.30g
6.85¢g
7.70kg
8.30¢g

9. 2kg



Think!

o Have a go.

Mame Date

Grams and Kilograms

Fe-
% ¥
=1 gram (g} "li-’ =1 kilogram (kg)
D T Vo~ T H
I 1
I A bowling ball weighs A bowling pin weighs about.
I 1
! about: 30 grams '
: 80 grams 300 grams '
| 120 grams 1 kilogram |
I 1
! 5 kilograms E kilograms !
X 43 kilograms '
e m m m e m m m e m m — R~ — — TaEaam — — — — — — — — - =
I 1
: Ajump rope A handful of :
I 1
! weighs about: chalk weighs '
X & grams about: |
\ 600 grams 10 grams :
I 1
! 14 kilograms 100 grams !
X 19 kilograms T kilograms |
X 2B kilograms |
O AU U -
I 1
I 1
! ADSweighs A football weighs '
X about: about: '
| 80 grams 25 grams '
I 1
! 800 grams 70O grams !
: 8 kilograms 26 kilograms |
: 80 kilograms 100 kilograms |
U U =l

Tamora Borbour 2012




ANSWERS. e "
Talk to
someone at > 3.600g 4.100g
home about
your ideas. > 5.80g 6.700g




DAY 3

cConverting grams
and kilograms



L.O. Can | convert
between grams and
kilograms?

o| kg = 1000g

°So...

o2 kg = 500g
ol/s kg = 250¢g
o|/10 kg = 100g




Complete
this work.

GRAMS

1000g
500g
250g
750g
100g
200g
300g
400g
600g
700g
800g
900g

KILOGRAMS

Ikg

3/10 kg



o |. 1000g = 2.2000g =

o 3. 500g = 4.1,500g =
Change
these from - 5.4,500g = 6. 7,500g =
grams to  7.250g = 8. 750g =
kilograms. 12500 .

> 11.600g = 12. 2,300g =




ANSWERS

o |. Ikg

o 3. % kg

5.4 kg

o 7. kg

°c9. | Yakg

o ['1.6/10 kg

2. 2kg

4. | I/2 kg

6.7 I/2 kg

8. %4 kg

10. 1/10 kg

12.2 3/10 kg



Change
these from
kilograms to
grams.

o |.3 kg

o 3.4 kg

o 5.6 ¥4 kg

o 7. 8/10 kg

°c 9.1 1/10 kg

o 11.10 kg

2.9 kg

4.2 /2 kg

6.3/10 kg

8.7 2 kg

10.4/10 kg

12.3 ¥4 kg



ANSWERS

> 1.3,000g

> 3.4,000g

> 5.6,750g

> 7.800g

> 9.1,100g

> 11.10,000g

2.9,000g

4.2,500g

6.300g

8.7,500g

10. 400g

12.3,750g



L.O. Canll
convert
grams and s ek T
Kilograms? _—

g i% equal to [er the some as) lkg.

Groms in fo kilograms =
Kdagrams in 18 grams s

Comwvert thete lengtie in o the unit of mearure given, . leok carefullyd

w P0Gz kg hy1.5kg = g
. . . LI k3 L " 3
s P NRETE
o This is tricky sm——n
£} Thlge . kg 1) Bdhge _ a
G — kg w00y g
EI e b D53y o g

Hawe o go ot these word problems. ..
1) A baker has o big order of cakes he needs To bake. He needs 3 oronges for his
ridipe. Eoch erofge weighd 130g. 'What if the Fatal miight aof The eranged?
a) Ingroms?
b} In kilsgramg?

2) A gardenes had LD phaatd 16 g4t Each plont pan needs B0g of geil, Hew muth sed
ket thae gordenar noed alfpgathar?
a] In grermd?
&} Inkiograms?

3 A bwldor had to fis 3 welli that have follen dewm. He noeds 2kg of coment for
each wall, How much cemen wil he need altegether?
al In kiograms?
b} Ingrema?




Day 4

cReasoning
problems.



L.O. Can |
solve
reasoning
problems?

Fruits and Veggies

Name: Class:
Fill in the blanks, Use :l as | umt of mass.

o, =00 B

AR P

[ A

J:Dl .’/Q\ e : /@\

Y
\

Fi

The mass of the pineapple is ~ units,

The mass ol the is 2 units.

The mass of the brocolliis —— units.

The is 1 unit lighter than the tomato.
The total mass of the 4 items is ~ units

The 15 lighter than the tomato.

The is 3 times heavier than the tomato.

The 15 4 times heavier than the carrot.

copyright:  waww.mathinenglish.com




ANSWERS

|. 6 units

2. Tomato

3.4 units

4. Carrot

5. 13 units

6. Carrot

/. Pineapple

8. Broccoli



Name: Date:
1. How many grams in one kilogram? E How many 1000 pey 1 000 o
ights?
o 10 O 1000 =R iS00 g
O 100 O 10000 >'< S I00e
2. There are | grams in half a CEL BE=Y
kilogram. 6. How manmy 100g weights are

&P = 185 grams

= 260 grams

3.
O apple
2 orange
4. Four
kilogram (1kg)?
< apples
O oranges
=2

balance arm

200 grams

._.

o —, 250 grams

Which is tThe heaviest fruit?

<
<

pear
banana

equal to one

& pears
< bananas

on one side and a one kilogram
weight on the other?

o
C

What would happen to the equal arm
if There were 4 oranges

=3

needed to balance the scale?
28 O 26
27 (&) 6

_ 7 bananns weighing 1750g.

7. How many more bananas are
needed to balance the scale?
o, 14 o 3
o 2 o 9
B. &rams in 3—;—- kg?
O 3500 O 350
(22, 3250 O 35
S, % of a kilogra.rnl grams
10. 3%0* a kilogr-aml |9r~ams

Cupe et 2003 Y. Tou by luuuees

weww.studyladder.com




ANSWERS

4
|. 1,000¢ 2.500¢ W 3.Orange Bananas
6.28 7.3 8.3,500z | 9.250g 0.
' Tricky! et ' 3,750g




A pen has a mass of 15 grams. What is the
mass of 5 identical pens? /

Alarge box has a mass of 125 kilograms. A L O ‘ A N | S O LV E
small box has a mass of 114 kilograms. ° °

What is the total mass of both boxes?

Sarah’s fish tank holds 32 liters of water. q}(

Sarah uses a 4 liter container to fill the tank.

How many times will Sarah need to fill the 4 P R B L E M 2
liter container in order to fill the fish tank? Py

Ben has three cups, each filled with 325ml W/
of lemonade. What is the total liquid volume
of lemonade in the three cups?

L T e e




ANSWERS

hd

Va

A. 75g

B. 239kg

C. 8 times

D. 975ml



DAY 5

oMixed Calculations

oTry Ready, Steady or,
if you are feeling
brave, Go!



o Ready Steady Go

o 31427 = 145 + 229 = 357 + 298 =
o 87-34= 824-118= 626 — 269 =
c 43x3= 146 x 5 = 51 x26=
o 54+4= 97 + 6 = 204+ 9 =
I_O COH | c 173+ 18= 338 + 194 = 2754 + 729 =

o 94-27 = 628 - 271 = 1378 - 928 =

solve mixed e 020 37892
calculations@e

o There are 153 children. If 64 are boys how many are girls?

o | have 175 cakes.They need to be put in tins. Each tin holds 12
cakes. How many tins will | need?

o | have 6 bags. Each bag has 17 oranges. | have 10 friends, How
many oranges can | give to each friend?




ANSWERS

o Ready Steady Go

o 58 374 655

o 53 706 357

o 129 730 [, 326
°o 13r2 16 rl 22 r6
o 191 532 3,483
o 67 357 450

o 68 468 7,644
o 7r5 22 r2 45 rl

o 89 girls

o |5 cake tins

o 10 oranges




